Handout 4- Solving Systems in
Three Variables

Solve the following linear systems algebraically.

r+yt+z =1 6r —3y—3z = 6

1. 224+y+22 = 2 6. 20 —y—2z = 4
Jr+y+z = 3 dJr—2y—2 = 6

vty =1 —6x+3y—3z = 3

2. 22-2y—2z = 1 7. 2x—y—22z = 2

T—y—z = -2 —3r+2y—2 = 3
—r+y+z = 3 B

3. 3r—2y—2 = 1 . _69‘“*2?_”22 = g
ty+z = 1 ' Iy =

rryTe T+2y—z =1

2r4+y+2z = 5

4. z4+2y—2z = 4 2r+y—2z = 2
r+y+z = 3 9. —z4+y+2z = 2
20 4+2y—2z = 2

6r —4dy+4z = 6 6r+3y—3z = 6
5. 2x+4+2y+4z = 4 10, —2242y+2 = 1
20 + 4z = 6 de+4y—2 = 4
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